Sync[log_String, f_1 := (
tl og = ToExpression[StringRepl ace[
log, {"[" -»"{", "1" »"}"}
15
tlog[[1]] = O;
Do[
tlog[[i, 11] = Round[f [tlog[[i, 11111,
{i, 2, Length[tlog]}
1
StringRepl ace[
StringRepl ace[
ToString[tlog, |nputForm,
"¢ MY "1
1,
"\"1," = "\"1,\n"
1
)

oldlog ="10g=[1297627474920,
[253964, [1,1], \"Handout view 2: Abstract 1\"],
[444894, [1,2], \"Handout view 3: Abstract 2\"],
[613813, [1,3], \"Handout view 4: NCCE Handout\"7],
[757772, [1,3], \"Handout view 4: NCGE Handout\"],
[788259, [1,4], \"Handout view 5: The Problem "],
[799050, [1,5], \"Handout view 6: A Denp Program "],
[810339, [1,6]1, \"Handout view 7: The Rubik's Cube\"],
[820209, [1,7]1, \"Handout view 8: The Answer\"],
[835128, [1,8], \"Handout view 9: Honmework Problem 1\"],
[855314, [1,5], \"Handout view 6: A Denp Program "],
[857391, [1,4], \"Handout view 5: The Problem "],
[862368, [1,6], \"Handout view The Rubi k's Cube\"],
[864830, [1,7], \"Handout view The Answer\"],
[867078, [1,8], \"Handout view Homewor k Probl em 1\ "],
[887797, [1,7], \"Handout view The Answer\"],
[891164, [1,6], \"Handout view The Rubi k's Cube\"],
[899380, [1,7], \"Handout view The Answer\"],
[906500, [1,8], \"Handout view 9: Honework Problem 1\"],
[928003, [1,9], \"Handout view 10: | could be a mathematician\"],
[939714, [1,10], \"Handout view 11: or an art historian ...\"],
[948073, [1,11], \"Handout view 12: Left Eye\"],
[953310, [1,12], \"Handout view 13: Right Eye\"],
[966742, [1,13], \"Handout view 14: or and environnmentalist ...\"],
[981993, [1, 14], \"Handout view 15: CO2 Em ssions\"],
[1003998, [1,15], \"Handout view 16: Snokestacks here\"],
[1011454, [1,16], \"Handout view 17: Distress penguins here\"],
[1017872, [1,15], \"Handout view 16: Snokestacks here\"],
[1020781, [1,16], \"Handout view 17: Distress penguins here\"],
[1028286, [1,17], \"Handout view 18: Coal\"],
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[1036949, [1,18], \"Handout

view 19: Speed limts above the Mna plane\"],
[1300301, [1,19], \"Handout view 20: Fermat's Principle\"],
[1466477, [1,20], \"Handout view 21: The Brachi stochrone\"],
[1702318, [1,21], \"Handout view 22: Airline Route Maps\"],
[1850063, [1,22], \"Handout view 23: The Least Action Principle\"],
[1911242, [1, 23], \"Handout view 24: The Sphere and the Pseudosphere\"],
[2098888, [1,24], \"Handout view 25: The Happy Segway Principle\"],
[2364337, [1,25], \"Handout view 26: Segways above the Mna plane.\"],
[2448700, [1,24], \"Handout view 25: The Happy Segway Principle\"],
[2459811, [1,25], \"Handout view 26: Segways above the Mna plane.\"],
[2555806, [1,26], \"Handout view 27: The Lobachevsky Pl ane\"],
[2558357, [1,25], \"Handout view 26: Segways above the Mna plane.\"],
[2940056, [1,26], \"Handout view 27: The Lobachevsky Pl ane\"],
[3242734, [1,27], \"Handout view 28: Lobachevsky\"],
[3254471, [1,28], \"Handout view 29: Life in the Lobachevsky Plane\"],
[3455370, [1,29], \"Handout view 30: Finding the Centre\"],
[3496918, [1,30], \"Handout view 31: Paranetrization\"],
[3555189, [1,31], \"Handout view 32: The Actual Code\"],
[3598014, [1,32], \"Handout view 33: Ops used\"],
[3616474, [1,33], \"Handout view 34: W had a goal...\"],
[3619689, [1,32], \"Handout view 33: Ops used\"],
[3624305, [1,33], \"Handout view 34: W had a goal...\"],
[3634424, [1,34], \"Handout view 35: we attained it...\"],
[3639295, [1,35], \"Handout view 36: we used all keys ...\"],
[3644503, [1,36], \"Handout

view 37: The Hardest Math |'ve Ever Really Used\"],
[3649959, [1,37], \"Handout view 38: is related to Lobachevsky\"],
[3656592, [1,0], \"Handout view 1: All\"],
[4029815, [1,23], \"Handout view 24: The Sphere and t he Pseudosphere\"],
[4121166, [1, 23], \"Handout view 24: The Sphere and the Pseudosphere\"],
[4211209, [1,20], \"Handout view 21: The Brachi stochrone\"],
[4517568, [1,22], \"Handout view 23: The Least Action Principle\"],
[4563099, [1,20], \"Handout view 21: The Brachi stochrone\"],
[4761178, [1,22], \"Handout view 23: The Least Action Principle\"]

1"
pairs = {
{253 964, 0},
{444 894, 1000 (3 %60 +8)},
{3656592, 1000 (56 = 60 +40)},
{4029815, 1000 (3600 +2 %60 +43)},
{4517568, 1000 (3600 +10 %60 +50)}
}

({253964, 0}, (444894, 188000},
(3656592, 3400000}, {4029815, 3763000}, {4517568, 4250000} }

Sync[ol dl og, Interpolation[pairs, InterpolationOder - 1]]
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InterpolatingFunction::dmval :

Input value {4563099} lies outside the range of data in the interpolating function. Extrapolation will be used. >

InterpolatingFunction::dmval :
Input value {4761178} lies outside the range of data in the interpolating function. Extrapolation will be used. >

[0, [0, [1, 1], "Handout view 2: Abstract 1"],

[188000, [1, 2], "Handout view 3: Abstract 2"],

(356935, [1, 3], "Handout view 4: NCGE Handout"],

[500907, [1, 3], "Handout view 4: NCGE Handout"7,

(631397, [1, 4], "Handout view 5: The Probleni],

(542189, [1, 5], "Handout view 6: A Denp Prograni],

[653479, [1, 6], "Handout view 7: The Rubi k's Cube"],

[663350, [1, 7], "Handout view 8: The Answer"],

[678271, [1, 8], "Handout view 9: Honmework Problem 1"],

[598459, [1, 5], "Handout view 6: A Denp Prograni],

(600536, [1, 4], "Handout view 5: The Probleni ],

[605513, [1, 6], "Handout view 7: The Rubik's Cube"],

(607975, [1, 7], "Handout view 8: The Answer"],

(610224, [1, 8], "Handout view 9: Homework Problem 1"],

(630945, [1, 7], "Handout view 8: The Answer"],

(634312, [1, 6], "Handout view 7: The Rubi k's Cube"],

(642529, [1, 7], "Handout view 8: The Answer"],

(649649, [1, 8], "Handout view 9: Honmework Problem 1"],

(671154, [1, 9], "Handout view 10: | could be a nmathenatician"],
(682867, [1, 10], "Handout view 11: or an art historian ..."],
[691226, [1, 11], "Handout view 12: Left Eye"],

[696464, [1, 12], "Handout view 13: Right Eye"],

[709897, [1, 13], "Handout view 14: or and environnentalist ..."],
[725150, [1, 147, "Handout view 15: COQ2 Em ssions"],

(747157, [1, 15], "Handout view 16: Snokestacks here"],

[754613, [1, 16], "Handout view 17: Distress penguins here"],

(761032, [1, 15], "Handout view 16: Snokestacks here"],

(763941, [1, 16], "Handout view 17: Distress penguins here"],

[771447, [1, 17], "Handout view 18: Goal "],

(780111, [1, 18], "Handout view 19: Speed linmts above the Mona plane"],
(1043487, [1, 19], "Handout view 20: Fermat's Principle"],

(1209679, [1, 20], "Handout view 21: The Brachi stochrone"],

[1445542, [1, 21], "Handout view 22: Airline Route Maps"],

[1593301, [1, 22], "Handout view 23: The Least Action Principle"],
(1654486, [1, 23], "Handout view 24: The Sphere and the Pseudosphere"],
(1842150, [1, 24], "Handout view 25: The Happy Segway Principle"],
(2107623, [1, 25], "Handout view 26: Segways above the Mna plane."],
(2191994, [1, 24], "Handout view 25: The Happy Segway Principle"],
[2203106, [1, 25], "Handout view 26: Segways above the Mna plane."],
[2299110, [1, 26], "Handout view 27: The Lobachevsky Pl ane"],
[2301662, [1, 25], "Handout view 26: Segways above the Mna plane."],
[2683397, [1, 26], "Handout view 27: The Lobachevsky Pl ane"],
(2986103, [1, 27], "Handout view 28: Lobachevsky"],

(2997841, [1, 28], "Handout view 29: Life in the Lobachevsky Pl ane"],
(3198759, [1, 29], "Handout view 30: Finding the Centre"],
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(3240311, [1, 30], "Handout view 31: Paranetrization"],

(3298587, [1, 31], "Handout view 32: The Actual Code"],

(3341416, [1, 32], "Handout view 33: Ops used"],

(3359878, [1, 33], "Handout view 34: W had a goal..."],

[3363094, [1, 32], "Handout view 33: Ops used"],

(3367710, [1, 33], "Handout view 34: W had a goal..."],

(3377830, [1, 34], "Handout view 35: we attained it..."],

(3382701, [1, 35], "Handout view 36: we used all keys ..."],

[3387910, [1, 36], "Handout

view 37: The Hardest Math |'ve Ever Really Used"],

[3393366, [1, 37], "Handout view 38: is related to Lobachevsky"],
[3400000, [1, O], "Handout view 1: Al"],

[3763000, [1, 23], "Handout view 24: The Sphere and the Pseudosphere"],
(3854210, [1, 23], "Handout view 24: The Sphere and the Pseudosphere"],
(3944114, [1, 20], "Handout view 21: The Brachi stochrone"],

(4250000, [1, 22], "Handout view 23: The Least Action Principle"],
(4295461, [1, 20], "Handout view 21: The Brachi stochrone"],

(4493234, [1, 22], "Handout view 23: The Least Action Principle"]]



